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1490 (»17w 53 ypap 177v) 2 1500 (17w 77)

I Analysis of the nywn — “if he left any ypap (and recovered)...”

a

b

17 - "RINY Y3” means “enough to sustain him”
RaR 71 NP 1 - needn’t be YpIp — can be enough 15v50n to sustain him
i Support (871 77): the reason is that he is relying on it for his own maintenance — no reason 0501 wouldn’t
work
ii ~ Challenge (901 7): mwn states “land” and "Rinw 3” — excluding 5v%0n and no minimum
1 Response (»a8): ypip doesn’t always mean land (exclusively) and w”> doesn’t always have no threshold
(a) ypI7. R"'s comment on n:3 NRa — that "ypap” includes PHo5on as a W in giving estate to 72y
(i) Block: in that case, ™ had just mentioned w”> ypp (for a list of ma5n), so N1wn mentioned ypp
(b) A17® 52 2:% PYIN mentions V" as D'NIN's minimum for 1N MWRY,
(i) Block: since p”n gave a large 1w, o’nan respond with a small one — and use "v">” to express it

II  Interpreting declaration of a gift of 5v%0n

a

b
c
d

I jom

o an o

If: he said "%a% *H0%0n - means all PYo50n, except for foodstuffs
But if: he said »11%95 *o0%0n 95 — includes wheat/barley, even upper millstone (not lower — which is yp7p)
And if: he said '11595 505007 5 — even lower (base) millstone
Question: is a slave considered pYvoon?
i Answer: above, 1:7 - selling the city doesn’t include 5050n; if he adds “including everything in it” — includes
o712y > PHoYon (else they would have been sold without adding namaw nn 2)
1 Block: if they are pY0%on, why does the 9’0 state D72y 19798 — PHVYVN?
2 Rather: we must distinguish between “stationary” pYvo%on and “mobile” p>v5on
3 Similarly: we may distinguish between “stationary” yp7p and “mobile” ypap = no proof

i Answer (?wN 775 X2237): n:a NR9 — and comment that PYv5vn considered 11w vis-a-vis D72y, but not vis-a-vis
nans

1 Explanation: since n»71ay are 50500, any leftover pyvoon are a 1w
(a) But: since n2m3 is Ypp, not considered 11w; since held pYv50n don’t speak to the ypp 20
2 Response (’wx 37): we understand that 15050n interfere with the 71y’s ability to acquire himself because
it’s not a fully excising 03 (Xv n172)
"7's list of 5 circumstances where the entire estate must be assigned
n”>w — only if he assigns his entire estate may he renege on the gift if he recovers
172 — only if he assigns his entire estate (leaving nothing to himself) to his slave does the slave go free
WK — only if he assigns his entire estate to his wife do we consider that an appointment as 910198
112 — only if he assigns his entire estate to his sons and then gives his wife any amount of land — she loses nana
nn1an — a widow who is remarrying and wants to keep her new husband’s reach away from her property — she
must assign her entire estate to a third party, implying that she intends to get it back if he divorces/predeceases
her
i Inall these cases: P50%0n are a 1V (i.e. if s/he left anything unassigned, even 15v%0n, it’s considered an in-
complete assignment) except for namn>
1 Reason: 1121 decreed that only »pp is accessible to namn3
(a) 7p20K: any PoVYVN written into n21n which are extant are also a 1w
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